a8 el JilA [ Ja 5 b SOl ( Depreciation)

Ca )l Ay el b Casle (S0 08 00 s s i 4y Dl g 3 SOl (50 3 s e 3o )L 168 ISG) saaS 0o sl i 4y kg 0 SO
e 92353 (S il 4y CSOlgal (558 ol 5 (S (e 8 Sle dia (2 4SA ) ) Al (SO 6 e iy pri 4SS 4y CuleS 0 (S
Sginl 50 el (S dpulaa 4 gLl 0 (S gisal g Jria S5 o4 (o (62 S Gsd d Sy e lal (e o s a4 Gl Ria
Ay g S AW e AR S o (558 i pe o pu 5168 HE 3 S e i S (590 Js)IS Cal ) e pesR eSS o 538 A
(o VS el 1) A8 4y S0 0 J S dulae 40 SO 0 5 S )8 il o 8 pae dd pop a2 S B a2 S
(S S il (5390 5350 20l A se 5l 50 (e o) (lle 3 (25 Y S 435S 58

G S S el ul o sle o o Jsal 4y siald a2 5 S ali o 5580 Clale JiA (o2 658 Au e o g s Sl al s
S 1 by 535S 0y i CaiSd ol ol Cudlad 0 (590 0 b (5 S (5 p0aS by sy A G g 3 g s Sl s w3 60 2 Cad ) sl
Sssd Rda 0 S 8 00l s IS sadid glE 0 o (60 45 (s Sl ol gdlaal (Sllle 3 S q s (S el 4 )l g5
G 4y ) oS 2 ghe SOl (53 ge ol Blaal 3 oS )5 el ) (e d o e g sl 3 o) Jgera ol g S 3 5 S5 g Yl
PP RREREETTIN

‘93‘93‘)345?_Lﬁﬁ@u&wu‘#@sdmwde&JLJ)J?){J’C_\SJJY}A’.A‘é}dﬂﬁjd%dﬁ&b)\é)})i@m&ddm\d
.62 25 SOl A S ailue (g ole

( Straight Line Depreciation Method ) 2 sixe <Slgiul 4 S aiiia (1)
( Sum-of-years-digits Depreciation Method ) 2six <S3lginl 5ald ) 5165 20 )l 535S 2 (2)
(Double Decline Balance Method) 25iw )l 58 &58 053 2 (3)

(Composite Depreciation Method) 2 six S e S3lgiul 3 (4)

Gobe il sl sase (53 2 (o S Jiy 45 i)l 4ra aid (5 5 3 Salvage Value/ Residual Value/Scrap Value)¢-
_@»@A@Lﬁjo&ﬁ\&ijaq)\ Ja _L“g)lo)uglid@mjjj A% aSBigial A e 2

(S A gy 9 SOl Al (S AN 4y JS 0 o adle o (o> 5opS iy 43 )l 4xa ( Book Value)é-

19 i SNt A S adliusa ( Straight Line Depreciation Method )

Sl (S e a5 gl JS 8 055 ) S dd o il

law Sl 4 iga 3 gl s Ay Cut )l (Sadl ASd 0 4y iglS gl Al Aiuig g o ph Jlundl) (a8 AT Y e an jige g aSdug el
(oA Fe oy a i 4 JS a4 58

s
Original Cost = 2000000 Afghani
Residual Value or Salvage Value = 500000 Afghani
Useful life of Asset = 10 Years
Annual Depreciation Expense = ?
Annual Depreciation Expense = (Original Asset — Residual Value) / Useful life of Asset

Annual Depreciation Expense = (2000000 - 500000) / 10 = 1500000 / 10 = 150000 Afghani



g Depreciation Accumulated Book Value at End of

>°_’ Expense Depreciation at Year End Year
Original Value

2000000 Af

1 150000 150000 1850000

2 150000 300000 1700000

3 150000 450000 1550000

4 150000 600000 1400000

5 150000 750000 1250000

6 150000 900000 1100000

7 150000 1050000 950000

8 150000 1200000 800000

9 150000 1350000 650000
(Scrap Value)

10 150000 1500000 500000

S8 .4 b SOl Al o o) L8 JS 50 a8 (Sl 6 (b 0 438 G )l (o sd SOl a7 55 sk o) 8 sk ise s aS
4aa 3 Gl Hsh g AS oS JaiSuaSsSaale gale d1A Al iy lle 43 ) 5 AAR )l (5 9 SOl 2 Al gl AT 130
4\5}3@@5)&4&\){}5&)}3%}4&}}96)\ad_g}g,_l\‘)ugujeba‘;qucé;é&)@@;);é)@u\d@&&u))\

xS J 0y

13 gia SMgiad 3 gald ) glgd 30 L 5iglS 3 ( Sum-of-years-digits Depreciation Method )

Lﬁﬁ;ﬁ#ﬁdﬁu});}\é}ﬂﬁ&#@oJ}JM\ﬁﬁsdcg;@&é\é\ﬁ\~ M)J\&m\@h)&&ﬁd@ﬁﬁj&ﬁwja

s
Original Value = 1000000 Afghani
Scrap Value = 200000 Afghani
Lifetime =5 Years
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5251045 Y Adu je 4y e 8 2 A sane sall )0 SIS 0 B8 GV S ) Al

(n? +n)/2=((5%+5)/2=(25+5)/2=30/2=15

Depreciation

Depreciation

Depreciation Expense

Accumulated

Book Value at

Base Rate Depreciation End of Year
1000000 Af
(Original Cost
800000 (5/15) (5/15)x800000 = 266667 266667 733333
800000 (4/15) (4/15)x800000 = 213333 480000 520000
800000 (3/15) (3/15)x800000 = 160000 640000 360000
800000 (2/15) (2/15)x800000 = 106667 746667 253333
800000 (1/15) (1/15)x800000 = 53333 800000 200000
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Original cost of elevator = 1000000 Afghani
Salvage value = 100000 Afghani
Life cycle =5 Years

Depreciation rate = ( 100% / Life Cycle) X2 = (100% / 5) X 2 =20% x 2 = 40%

. Depreciation | Accumulated | Book Value at
Depreciation Rate . L.
Expense Depreciation End of Year
1000000
Original Cost
40% 400000 400000 600000
40% 240000 640000 360000
40% 144000 784000 216000
40% 86400 870400 129600
129600-100000 29600 900000 | Salvage Value
100000
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Excavator depreciation per year =(5000000 — 1500000) / 20 = 3500000 / 20 = 175000 Afghani

Dumper depreciation per year = (3000000 — 1000000 ) / 10 = 2000000 / 10 = 200000 Afghani

Asset Historical salvage Value Depreciation Lifetime Depreciation
Cost Cost per Year
Excavator 5000000 1500000 3500000 20 175000
Dumper 3000000 1000000 2000000 10 200000
Total 8000000 2500000 5200000 14 375000
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Composite life = Total Depreciation Cost / Yearly Total Depreciation
Composite life = 5200000/375000 = 13.87 => 14 Years
Composite Depreciation Rate = Yearly Total Depreciation / Total Historical Cost

Composite Depreciation Rate = 375000 / 8000000 = 0.047= 0.47 x 100 = 4.7%



